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What is the perimeter of the rectanqular plot?

MODEL QUESTIONS

Directions (Q.No.l1 - 5): Study
the following table carefully and
ans wer the questions given below it.

The table shows the number (in
hundreds) of students participating in
five different games from six
different schools.

Schools Number of students in hundreds
| Chess | Cricket | Football | Badminton| Volleyball
P 15 21 24 0.8 0.9

Q 124 | 13 26 2 0.5

R 5.7 8 12 0.3 0.2

S 11.3 | 6 18 1 1.5

T 17 12.4 11 3 0.4

U 14 10.5 9.8 0.7 0.1

1. What is the average number of
participants in football?

1) 1675 2) 1680
3) 1600 4) 1690
5) 1569

2. By approximately what percent
i1s the number of all Badminton
participants less than those in

Cricket?

1) 88% 2) 90%
3) 86% 4) 89%
5) 87%

3. What is the difference in the
number of students participating
in all sports from school R and
those from T?

1) 1675 2) 1750

KEY & SOLUTIONS

1. 2;
The average number
participants in football =
2400 +2600 +1200 +1800 +
6

of

1100+ 980
6

= —10280 =1680

2. 4;
The required percentage =

_ 70.9-7.8 - 399

100
3. 5;
Number of students from R
= 2620
Number of students from T
= 4380
Required difference
= 4380 — 2620 = 1760

4. 2;
The required percentage =
= 36 X100 = 5%
75.4
5. 3;
) : 10080 360
Required ratio = -

= 1680 : 60

epaper.sakshi.com

10.

11.

3) 1765 4) 1670

5) 1760

What is the  percentage
(approximate) of total number of
participating students in
Volleyball over chess?

1) 8% 2) 5%

3) 7% 4) 9%

5) 4%

What 1s the ratio of average
number of students participating

in football to that of in
Volleyball?

1)14:1 2)14:3

3)28 : 1 4)27 1

5)12: 1

Rakesh purchased an item for Rs
7,200 and sold it at the gain of
25%. From that amount he
purchased another item and sold
it at the loss of 25%. What 1s his
overall gain or loss?

1) Loss Rs 540

2) Gain Rs 420 3) Loss Rs 450
4) Neither gain nor loss

5) None of these

The respective ratio of the length
and breadth of a rectangular plot
is 3 : 2. If the length of the plot is
40 meters more than its breadth.
What is the perimeter of the
rectangular plot?

1) 200 meters 2) 400 meters

3) 500 meters

4) Can't be determined

5) None of these

Srilekha saves Rs 9,500 per
month. How much amount will
she save in 3 years 3 months?

=28:1

3;
Sp = 720022 % 1> _ 6750
100" 100

Loss = 7200 — 6750

= Rs 450

2;

Let the length of = 3x and
its breadth = 2x
According to question
=3x—2x =40 m

So length = 120 m and
breadth = 80 meter
Perimeter = 2(120 + 80)
= 400 meters

1;

Her savings in given time period
=39 x 9,500

= 3,70,500

=H

m, = 18 d1:32 w, =1
m, =12 d,=? w, =1

m1d1w2 = m2d2w1
18><32><1=12><d2><1

d, = 48 days
3;
100% =?

100
100% = -E %240
= 600
2;

10.

11.

12.

12.

13.

14.

IBPS

Clerk Prelims

Reasoning
Special

Also useful for

Other Competitive Exams

1) Rs 3,70,500 2) Rs 2,65,500
3) Rs 4,42,000 4) Rs 3,75,500
5) None of these

18 men can complete a piece of
work in 32 days. In how many
days will 12 men finish the same
piece of work?

1) 46 days 2) 54 days

3) 56 days 4) 42 days

5) None of these

Pranay got 220 marks in the
examination and failed with 20
marks. Find the maximum marks
( pass mark is 40%)?

1) 400 2) 500

3) 600 4) 750

5) None of these

The average age of 30 students is
12 years. If teacher's age is also
included, the average increased
by 1 year. Find the teacher's age?
) 42 years 2) 43 years

3) 44 yrs 6 months

4) 46 years

5) None of these

A number when multiplied by

Teacher's age = Number of
students X increased average +
new average
=30x1+13
=43 years
=H
Let the number = X
According to the question
x %X 5x =720
5x2 =720
2 =2 A
5
x=12
3;
The HCF of two numbers 1s 15,
so two numbers should be 15
multipliers
Between 20 and 100, 15
multipliers are 30, 45, 60, 75, 90
The pairs of numbers whose
HCF is 15 are
(30, 45), (30, 75), (45, 60), (45,
75), (60, 75) and (75, 90)
Total 6 pairs
1;
Let the three angles are
= 2x, 3x and 4x
2x + 3x + 4x =180
9x = 180
x= 20
Required difference

13.

14.

15.

16. 3; The average of the 5

five times of itself gives the
value equal to 720. What is the
number?

1) 13 2)9 3) 15
4) 8 5) 12

Between 20 and 100, how many
pairs of numbers are there,
whose HCF is 157

1) 4 2)5 3)6

4) 8 5) None of these

The ratio of three angles of
triangles 1s 2 : 3 : 4. Find the
difference between highest angle
and least angle?

1) 40° 2) 60° 3) 80°
4) 90° 5) None of these
40 m, 30 m length and breadth of
the  rectangular  field s
constructed 5 m wide of the road
out side of the field. Find the area
of the road?

1)200sgqm  2)375sqm
3) 800 sqm  4) 1200 sq m
5) None of these
=4x — 2x
=2x=2x20
= 40°

15. 3;

The length and breadth of the
outer rectangle are S0mm 40m
The area of the road

=50 x 40 — 40 x 30

= 2000 — 1200 = 800 sq m

consecutive odd numbers 1is
equal to the middle number i.e.,
3rd number

The numbers be
x,(x+2),(x+4), (x+ 8)
x+4=81;x=77;, x+8=285
Difference = 85 —77=8

16

17.

18.

17.

. The average of five consecutive

odd numbers is 81. What is the
difference between the highest
and lowest numbers?

1)4 2)5 3)8
4)6 5) None of these
A library has an average of 321
visitors on Sundays and 180 on
other days. The average number
of visitors per day in a month of
30 days beginning with a
Sunday?

1) 201 2) 205.3

3) 203 4) 203.5

5) None of these

The average of 5 numbers is
306.4. The average of the first
two numbers is 431 and the
average of the last 2 numbers is
214.5. What is the third number?
1) 108 2) 52

3) 321

4) Cannot be determined

5) None of these

4; The month begins with a

Sunday, so there will be 5
Sundays in the Month.
Required average

18.

321x5+25%180
30

_1605+4500 _ 6105 _, .
30 0

5; Sum of 5 numbers

=306.4 x 5=1532.0
Sum of 1% two numbers
=431 x2 =862

Sum of last two numbers
=214.5x 2 =429

Third number

= 1532— 429- 862

=241
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